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Chem 12B Name
Quiz #6 please print
April 14,2021 Take Home, 20 points

Instructions- Read through all questions carefully. The points for each problem are in square brackets
(eg.[ /74]).
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1. [ /6] The mass spectrum shown above is from an unknown compound. Assuming that m/z
164 is the molecular ion peak, your computer gives you several possible molecular formulas that
match. Use your knowledge of 13C isotope abundance to discern which is the correct formula
from the list.
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2. [ /8] For the radical cation shown below there are two possible homolytic a-cleavage
reactions. Show the arrow pushing that results in the two homolytic a-cleavage reactions and
show the products from both homolytic a-cleavage reactions. For each of the products clearly
indicate which product would be observed and which would represent the loss observed in the

spectrum. ot
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3. [ /6] The radical cation shown below undergoes McLafferty rearrangement. Show the arrow

pushing that results in the McLafferty rearrangement and show the products indicating which
would be observed and which would represent the loss observed in the spectrum.
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